4" J FIN ANCHOR
SEE SHEETS 2 TO 4

Endurance SH—SH WINDOW (FIN INSTALL)

SIZE 727 X 60"

DESIGN PRESSURE +/— 50 PSF
SEE SHEET 5 FOR GLAZING DESCRIPTION

|t 72" —
~— 127 INSTALL CLIP (TYP)
4”14— 12” LONG; 3 ANCHORS PER
n ® @ [ ) ® @ [ ) ® @ [ ) ® @ [ ) ® @ [ ) [ N
G1 G1
Lo =l
o
©
G1 G1
) o ) o ) o ) o ) o ) o () o () ([

NOTES:

1. Products and installations depicted satisfy the requirements of the current
Florida Building Code, Building for the design wind pressures and overall sizes
noted.

2. Wood bucks, wood framing, steel stud framing, concrete and concrete masonry

are by others and shall be designed by the architect or engineer of record to
resist the loads imparted to them.

3. Wood buck strips and wood frames are assumed S—P—F (G=0.42) or denser.
Buck width shall be greater than the window frame width. Tapered or partial
width buck strips are not allowed.

4. Metal stud frames are assumed to be a minimum 18 gauge 33 KSI steel.

5. Wood screws shall be corrosion resistant and meet the requirements of
ANSI/ASME B18.6.1

6. TEKS screws shall be corrosion resistant and shall be ASTM A510 Grade 1018
or equivalent.

7. Nails shall be corrosion resistant and meet the requirements of ASTM F1667.

8. Maximum permitted shim thickness is 1/4”. Shims shall be non—compressible
and load bearing type.

9. Products are not impact resistant and require approved protection devices if
used in wind—borne debris regions.

10. Not for use in High Velocity Hurricane Zone (HVHZ).

CONTENTS:

Sheet 1 Elevations and Notes
Sheets 2—3 Fin Install to Wood

Sheet 4 Fin Install to Steel Stud SN\ 0. STRe ),
Sheet 5 Sections and BOM ssb.-'\/\c Sgl, This item has been digitally signed and
SRS W Z i
Sheet 6 Compohents S.7 Noessss ., Z sealed by Michael D. Stremmel, PE on
P £ *5' * 3* = the date adjacent to the seal. Printed
E’% XS copies of this document are not
20, STATE OF é_u\s: considered signed and sealed and
AN ‘._QB'\_Q.??'C,\\\\\\\ the signature must be verified on
%//S/ONAL€$\0°° any electronic copies.

////,“,”” lu“\\\\\\

Sl D™

2023.10.24 09:33:02 -04'00"

Endurance SH-SH - non-Impact
Elevations and Notes

VPI Quality Windows
3420 Ferry Ave.
Spokane, WA 99202

Drawing No.: 25164-1-1001
Project No.: 25164-1
Drawn By: MDS Rev: 2

Date:10/16/23

Scale: NTS Sheet 1 of 6



AutoCAD SHX Text
FIN ANCHOR SEE SHEETS 2 TO 4

AutoCAD SHX Text
Endurance SH-SH WINDOW (FIN INSTALL) SIZE 72" X 60" DESIGN PRESSURE +/- 50 PSF SEE SHEET 5 FOR GLAZING DESCRIPTION

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
12"

AutoCAD SHX Text
72"

AutoCAD SHX Text
60"

AutoCAD SHX Text
INSTALL CLIP (TYP) 12" LONG; 3 ANCHORS PER

AutoCAD SHX Text
4"

AutoCAD SHX Text
G1

AutoCAD SHX Text
G1

AutoCAD SHX Text
G1

AutoCAD SHX Text
G1

AutoCAD SHX Text
NOTES: 1. Products and installations depicted satisfy the requirements of the current Products and installations depicted satisfy the requirements of the current Florida Building Code, Building for the design wind pressures and overall sizes noted. 2. Wood bucks, wood framing, steel stud framing, concrete and concrete masonry Wood bucks, wood framing, steel stud framing, concrete and concrete masonry are by others and shall be designed by the architect or engineer of record to resist the loads imparted to them.  3. Wood buck strips and wood frames are assumed S-P-F (G=0.42) or denser.  Wood buck strips and wood frames are assumed S-P-F (G=0.42) or denser.  Buck width shall be greater than the window frame width.  Tapered or partial width buck strips are not allowed. 4. Metal stud frames are assumed to be a minimum 18 gauge 33 KSI steel. Metal stud frames are assumed to be a minimum 18 gauge 33 KSI steel. 5. Wood screws shall be corrosion resistant and meet the requirements of Wood screws shall be corrosion resistant and meet the requirements of ANSI/ASME B18.6.1 6. TEKS screws shall be corrosion resistant  and shall be ASTM A510 Grade 1018 TEKS screws shall be corrosion resistant  and shall be ASTM A510 Grade 1018 or equivalent. 7. Nails shall be corrosion resistant and meet the requirements of ASTM F1667. Nails shall be corrosion resistant and meet the requirements of ASTM F1667. 8. Maximum permitted shim thickness is 1/4".  Shims shall be non-compressible Maximum permitted shim thickness is 1/4".  Shims shall be non-compressible and load bearing type.   9. Products are not impact resistant and  require approved protection devices if Products are not impact resistant and  require approved protection devices if used in wind-borne debris regions. 10. Not for use in High Velocity Hurricane Zone (HVHZ). Not for use in High Velocity Hurricane Zone (HVHZ). CONTENTS: : Sheet  1 Elevations and Notes Elevations and Notes Sheets 2-3 Fin Install to Wood Fin Install to Wood Sheet  4 Fin Install to Steel Stud Fin Install to Steel Stud Sheet  5 Sections and BOM Sections and BOM Sheet  6 ComponentsComponents


Note:
Waterproofing and interior finishes by

H EAD others. Not shown for clarity.

SHEATHING (TYPICAL) 121/2" MIN gVQOEE)UCFEAMING OR 1/2” MIN
#8 WOOD SCREW EMBEDMENT SEE NOTE 3.
LENGTH SUFFICIENT TO mn
ACHIEVE MIN EMBEDMENT * 1N
INSTALL CLIP —] WOOD FR/;“)"('NSU COKR
!||! — — — — /2 N SEE NOTE 3.
— i
INTERIOR /4" A il
Q“D ” 1/4” MAX T ?
L] 1—-1/2" MIN
> 1 EMBEDMENT
N D2l J *

QO

#8 WOOD SCREW
LENGTH SUFFICIENT TO
ACHIEVE MIN EMBEDMENT

EXTERIOR
EXTERIOR YD [ WIEROR E;
DAl

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

1/4" MAX
2023.10.24 09:33:02 -04'00
ik — [ 1/2" MN
i T — — - Endurance SH-SH - non-Impact
#8 WOOD SCREW = - — — —] Fin Install to Wood
LENGTH SUFFICIENT TO
ACHIEVE MIN EMBEDMENT 1-1/2" MIN - -
EMBEDMENT VPI Quality Windows
WOOD FRAMING OR
2% BUGK. 3420 Ferry Ave.
S"_L SEE NOTE 3. Spokane, WA 99202

Drawing No.: 25164-1-1001
Project No.: 25164-1
Drawn By: MDS Rev: 2 Date:10/16/23

Scale: NTS Sheet 2 of 6



AutoCAD SHX Text
#8 WOOD SCREW LENGTH SUFFICIENT TO ACHIEVE MIN EMBEDMENT

AutoCAD SHX Text
WOOD FRAMING OR 2X BUCK. SEE NOTE 3.

AutoCAD SHX Text
WOOD FRAMING OR 2X BUCK. SEE NOTE 3.

AutoCAD SHX Text
WOOD FRAMING OR 2X BUCK. SEE NOTE 3.

AutoCAD SHX Text
#8 WOOD SCREW LENGTH SUFFICIENT TO ACHIEVE MIN EMBEDMENT

AutoCAD SHX Text
EXTERIOR                    INTERIOR                    INTERIORINTERIOR

AutoCAD SHX Text
INTERIOR EXTERIOR

AutoCAD SHX Text
SHEATHING (TYPICAL)

AutoCAD SHX Text
1/4" MAX 

AutoCAD SHX Text
1/4" MAX 

AutoCAD SHX Text
1/4" MAX

AutoCAD SHX Text
1-1/2" MIN EMBEDMENT

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
1-1/2" MIN EMBEDMENT

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
1-1/2" MIN EMBEDMENT

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
#8 WOOD SCREW LENGTH SUFFICIENT TO ACHIEVE MIN EMBEDMENT

AutoCAD SHX Text
INSTALL CLIP


HEAD

SHEATHING (TYPICAL)

WOOD FRAMING OR

6D OR 8D NAIL EM%I’ED,\:/:ENT 2X BUCK.
LENGTH SUFFICIENT TO SEE NOTE 3.
ACHIEVE MIN EMBEDMENT ‘
INSTALL CLIP ~ —
_ _ — 1/2” MIN—f
1/4" MAX
'\I
'\l
EXTERIOR INTERIOR
1/4" MAX
— /2" MIN

6D OR 8D NAIL
LENGTH SUFFICIENT TO
ACHIEVE MIN EMBEDMENT

~

SILL

————|

2" MIN
EMBEDMENT
WOOD FRAMING OR
2X BUCK.
SEE NOTE 3.

INTERIOR

EXTERIOR

1/2" MIN

WOOD FRAMING OR
2X BUCK.
SEE NOTE 3.

1 /4I” MAX ~\

|

I

2" MIN
EMBEDMENT

AT

6D OR 8D NAIL
LENGTH SUFFICIENT TO
ACHIEVE MIN EMBEDMENT

Note:
Waterproofing and interior finishes by
others. Not shown for clarity.

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

Sl D™

2023.10.24 09:33:02 -04'00"

Endurance SH-SH - non-Impact
Fin Install to Wood

VPI Quality Windows
3420 Ferry Ave.
Spokane, WA 99202

Drawing No.: 25164-1-1001
Project No.: 25164-1

Drawn By: MDS Rev: 2 Date:10/16/23

Scale: NTS Sheet 3 of 6



AutoCAD SHX Text
6D OR 8D NAIL LENGTH SUFFICIENT TO ACHIEVE MIN EMBEDMENT

AutoCAD SHX Text
WOOD FRAMING OR 2X BUCK. SEE NOTE 3.

AutoCAD SHX Text
WOOD FRAMING OR 2X BUCK. SEE NOTE 3.

AutoCAD SHX Text
WOOD FRAMING OR 2X BUCK. SEE NOTE 3.

AutoCAD SHX Text
6D OR 8D NAIL LENGTH SUFFICIENT TO ACHIEVE MIN EMBEDMENT

AutoCAD SHX Text
EXTERIOR                    INTERIOR                    INTERIORINTERIOR

AutoCAD SHX Text
INTERIOR EXTERIOR

AutoCAD SHX Text
SHEATHING (TYPICAL)

AutoCAD SHX Text
1/4" MAX 

AutoCAD SHX Text
1/4" MAX 

AutoCAD SHX Text
1/4" MAX

AutoCAD SHX Text
2" MIN EMBEDMENT

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
2" MIN EMBEDMENT

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
2" MIN EMBEDMENT

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
6D OR 8D NAIL LENGTH SUFFICIENT TO ACHIEVE MIN EMBEDMENT

AutoCAD SHX Text
INSTALL CLIP


HEAD

SHEATHING (TYPICAL)

#10—16 TEKS SCREW
LENGTH SUFFICIENT TO

MIN PENETRATION IS DRILL
POINT + 3 THREADS (APPROX. 3/47)

#

ACHIEVE MIN PENETRATION —
INSTALL CLIP 1/2" MIN—f
SN 1/4" MAX
18 GAUGE STEEL STUD.
SEE NOTE 4.
A
n
EXTERIOR IR AN] @ INTERIOR
[Tl
1/4" MAX

#10—16 TEKS SCREW
LENGTH SUFFICIENT TO
ACHIEVE MIN PENETRATION

1/2” MIN

SILL

18 GAUGE STEEL STUD.
/ SEE NOTE 4.

S

==

MIN PENETRATION IS DRILL
POINT + 3 THREADS (APPROX. 3/4™)

INTERIOR

EXTERIOR

18 GAUGE STEEL STUD.
SEE NOTE 4.

L 1/2” MIN

MIN PENETRATION IS DRILL
POINT+ 3 THREADS
(APPROX. 3/4”)

_{

#10—-16 TEKS SCREW
LENGTH SUFFICIENT TO
ACHIEVE MIN PENETRATION

Note:

Waterproofing and interior finishes by
others. Not shown for clarity.

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

Sl D™

2023.10.24 09:33:02 -04'00"

Endurance SH-SH - non-Impact
Fin Install to Steel Stud

VPI Quality Windows
3420 Ferry Ave.
Spokane, WA 99202

Drawing No.: 25164-1-1001
Project No.: 25164-1
Drawn By: MDS Rev: 2

Date:10/16/23

Scale: NTS Sheet 4 of 6



AutoCAD SHX Text
18 GAUGE STEEL STUD. SEE NOTE 4.

AutoCAD SHX Text
#10-16 TEKS SCREW LENGTH SUFFICIENT TO ACHIEVE MIN PENETRATION

AutoCAD SHX Text
18 GAUGE STEEL STUD. SEE NOTE 4.

AutoCAD SHX Text
#10-16 TEKS SCREW LENGTH SUFFICIENT TO ACHIEVE MIN PENETRATION

AutoCAD SHX Text
18 GAUGE STEEL STUD. SEE NOTE 4.

AutoCAD SHX Text
#10-16 TEKS SCREW LENGTH SUFFICIENT TO ACHIEVE MIN PENETRATION

AutoCAD SHX Text
EXTERIOR                    INTERIOR                    INTERIORINTERIOR

AutoCAD SHX Text
INTERIOR EXTERIOR

AutoCAD SHX Text
SHEATHING (TYPICAL)

AutoCAD SHX Text
1/4" MAX 

AutoCAD SHX Text
1/4" MAX 

AutoCAD SHX Text
1/4" MAX

AutoCAD SHX Text
MIN PENETRATION IS DRILL POINT + 3 THREADS (APPROX. 3/4")

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
MIN PENETRATION IS DRILL POINT + 3 THREADS (APPROX. 3/4")

AutoCAD SHX Text
MIN PENETRATION IS DRILL  POINT+ 3 THREADS (APPROX. 3/4")

AutoCAD SHX Text
1/2" MIN

AutoCAD SHX Text
INSTALL CLIP


BILL OF MATERIAL

la
r\’ 12
,\‘ 9
7 U =
- U
SECTION A-A
1
[ <
)
[ 3 TYP
— J
[= V(] S s

SECTION B-B

ITEM DESCRIPTION MATERIAL PART NO.
1 MAIN FRAME VINYL 8986

2 NARROW T—BAR VINYL 6348

3 GLASS STOP VINYL 10660
4 SASH FRAME INTERLOCK VINYL 10809
5 SASH FRAME PULL VINYL 10807
6 SASH FRAME STILE VINYL 6346

7 FIXED INTERLOCK VINYL 10645
8 FIXED INTERLOCK REINFORCEMENT STEEL U-416750
9 SASH INTERLOCK RAIL REINFORCEMENT STEEL U-416850
10 SILL REINFORCEMENT STEEL U-945080
1 NARROW T—BAR REINFORCEMENT STEEL U-1080
12 0.270" PILE WEATHERSTRIPPING WC-00—-19
13 WEEP COVER VINYL

14 LOCK (RH) METAL A30700403
15 LOCK (LH) METAL A30700407
16 KEEPER METAL C41275
17 SASH STOP VINYL 2991
18 TUBE BALANCE ASSEMBLY

19 INSTALL CLIP STEEL

SECTION C-C

1/8" ANNEALED
GLASS

GLAZING TAPE

GLAZING BEAD

SETTING BLOCK

1/2" BITE

EXTERIOR INTERIOR

GLAZING DETAIL G1

?,\—/?SZ”///
\D\i\-'\;'\CENS@-./{(\//@ This item has been digitally signed and
% No 65868 . Z  sealed by Michael D. Stremmel, PE on
? * ';*E the date adjacent to the seal. Printed
[5:5 copies of this document are not
‘. K\STATE 0'; é_u\\s considered signed and sealed and
LORIDNONS  the  signature must  be  verified on

“n
//// n,

ks\/ONA\_?ﬁ\\\\\\‘\ any electronic copies.
g™

Sl D™

2023.10.24 09:33:02 -04'00"

Endurance SH-SH - non-Impact
Sections and BOM

VPI Quality Windows
3420 Ferry Ave.
Spokane, WA 99202

Drawing No.: 25164-1-1001
Project No.: 25164-1
Drawn By: MDS Rev: 2 Date:10/16/23

Scale: NTS Sheet 5 of 6



AutoCAD SHX Text
1

AutoCAD SHX Text
3 TYP

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
10

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
3 TYP

AutoCAD SHX Text
11

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
11

AutoCAD SHX Text
3 TYP

AutoCAD SHX Text
6 TYP

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
1

AutoCAD SHX Text
MAIN FRAME

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
8986

AutoCAD SHX Text
2

AutoCAD SHX Text
NARROW T-BAR

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
6348

AutoCAD SHX Text
3

AutoCAD SHX Text
GLASS STOP

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
10660

AutoCAD SHX Text
4

AutoCAD SHX Text
SASH FRAME INTERLOCK

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
10809

AutoCAD SHX Text
5

AutoCAD SHX Text
SASH FRAME PULL

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
10807

AutoCAD SHX Text
6

AutoCAD SHX Text
SASH FRAME STILE

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
6346

AutoCAD SHX Text
7

AutoCAD SHX Text
FIXED INTERLOCK

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
10645

AutoCAD SHX Text
8

AutoCAD SHX Text
FIXED INTERLOCK REINFORCEMENT

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
U-416750

AutoCAD SHX Text
9

AutoCAD SHX Text
SASH INTERLOCK RAIL REINFORCEMENT

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
U-416850

AutoCAD SHX Text
10

AutoCAD SHX Text
SILL REINFORCEMENT

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
U-945080

AutoCAD SHX Text
11

AutoCAD SHX Text
NARROW T-BAR REINFORCEMENT

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
U-1080

AutoCAD SHX Text
12

AutoCAD SHX Text
0.270" PILE WEATHERSTRIPPING

AutoCAD SHX Text
WC-00-19

AutoCAD SHX Text
13

AutoCAD SHX Text
WEEP COVER

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
14

AutoCAD SHX Text
LOCK (RH)

AutoCAD SHX Text
METAL

AutoCAD SHX Text
A30700403

AutoCAD SHX Text
15

AutoCAD SHX Text
 LOCK (LH)

AutoCAD SHX Text
METAL

AutoCAD SHX Text
A30700407

AutoCAD SHX Text
16

AutoCAD SHX Text
KEEPER

AutoCAD SHX Text
METAL

AutoCAD SHX Text
C41275

AutoCAD SHX Text
17

AutoCAD SHX Text
SASH STOP

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
2991

AutoCAD SHX Text
18

AutoCAD SHX Text
TUBE BALANCE

AutoCAD SHX Text
ASSEMBLY

AutoCAD SHX Text
19

AutoCAD SHX Text
INSTALL CLIP

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
12 TYP

AutoCAD SHX Text
14, 15

AutoCAD SHX Text
16

AutoCAD SHX Text
18 TYP

AutoCAD SHX Text
1/8" ANNEALED GLASS

AutoCAD SHX Text
GLAZING BEAD

AutoCAD SHX Text
GLAZING DETAIL G1

AutoCAD SHX Text
GLAZING TAPE

AutoCAD SHX Text
SETTING BLOCK

AutoCAD SHX Text
EXTERIOR

AutoCAD SHX Text
INTERIOR

AutoCAD SHX Text
1/2" BITE


—=—{|=—0.060"

—— 3.500" ———

11

(1) _MAIN_FRAME
(VINYL)
(PART NO. 8986)

1.650"  |=—

’\*E]_EJ 1.5?0"

(4) FRAME INTERLOCK
(VINYL)
(PART NO. 10809)

»‘ ~— 0.660”
0.072" ——|=—|  1.580”

[

(8) FIXED INTERLOCK REINF.

0|
|

(STEEL)
(PART NO. U-416750)

»' 1.250" |<7

2 5

:

=y

OO”

1

R

(2) NARROW T—BAR

(VINYL)
(PART NO. 6438)

—=1 1.400" |=—

|1

(5) FRAME PULL
(VINYL)
(PART NO. 10807)

— l~—0.685"

0.072" —»|== 1.112"

1

(9) INTERLOCK RAIL REINF.

1.400”

|~ = o04se”

0.563" @ ‘
—?_O 1

(6) FRAME STILE

[
2k

0.060" —=

(STEEL)
(PART NO. U—416850)

(VINYL)

(PART NO. 6346)

)

(10) SILL REINF.

(STEEL)
(PART NO. U—945080)

.803" —

(3) GLASS STOP
(VINYL)
(PART NO. 10660)

—=—{ 1.770" |=—
SIS 1.625”
DD ‘

(7) FIXED INTERLOCK
(VINYL)
(PART NO. 10645)

~—=1—(0.790"

T
1.491”

0.072" —>|<—
4

(11) _T—BAR_REINF.

(STEEL)

(PART NO. U—1080)

r |<—o.1oo”

2.000”

I

T

12.000”

(19) INSTALL CLIP

(STEEL)
iy,
\\\\\“\\§\?,¥,9:.S.I/?ZZ/// 3

\\\\‘\\D\é'\;'\CENS@.%@’ This item has been digitally signed and

sz No. 65868 '(*’2: sealed by Michael D. Stremmel,

£ &p * = the date adjacent to the seal.

ER XS copies of this document

Z Q.. STATE OF &§ considered signed and sealed
y the signature must be

’//,//4/
/// 7

any electronic copies.

Sl D™

2023.10.24 09:33:02 -04'00"

Endurance SH-SH - non-Impact

Components

VPI Quality Windows
3420 Ferry Ave.
Spokane, WA 99202

Drawing No.: 25164-1-1001
Project No.: 25164-1
Drawn By: MDS Rev: 2

Scale: NTS

Date:10/16/23

Sheet 6 of 6



AutoCAD SHX Text
3.500"

AutoCAD SHX Text
3.500"

AutoCAD SHX Text
1.900"

AutoCAD SHX Text
2.500"

AutoCAD SHX Text
0.459"

AutoCAD SHX Text
0.803"

AutoCAD SHX Text
0.563"

AutoCAD SHX Text
1.650"

AutoCAD SHX Text
1.500"

AutoCAD SHX Text
1.500"

AutoCAD SHX Text
1.400"

AutoCAD SHX Text
1.400"

AutoCAD SHX Text
1.500"

AutoCAD SHX Text
1.770"

AutoCAD SHX Text
1.625"

AutoCAD SHX Text
0.660"

AutoCAD SHX Text
1.580"

AutoCAD SHX Text
0.685"

AutoCAD SHX Text
1.112"

AutoCAD SHX Text
1.003"

AutoCAD SHX Text
1.491"

AutoCAD SHX Text
0.790"

AutoCAD SHX Text
(1) MAIN FRAME (VINYL) (PART NO. 8986)

AutoCAD SHX Text
(2) NARROW T-BAR (VINYL) (PART NO. 6438)

AutoCAD SHX Text
(3) GLASS STOP (VINYL) (PART NO. 10660)

AutoCAD SHX Text
(4) FRAME INTERLOCK (VINYL) (PART NO. 10809)

AutoCAD SHX Text
(5) FRAME PULL (VINYL) (PART NO. 10807)

AutoCAD SHX Text
(6) FRAME STILE (VINYL) (PART NO. 6346)

AutoCAD SHX Text
(7) FIXED INTERLOCK (VINYL) (PART NO. 10645)

AutoCAD SHX Text
(8) FIXED INTERLOCK REINF. (STEEL) (PART NO. U-416750)

AutoCAD SHX Text
(9) INTERLOCK RAIL REINF. (STEEL) (PART NO. U-416850)

AutoCAD SHX Text
(10) SILL REINF. (STEEL) (PART NO. U-945080)

AutoCAD SHX Text
(11) T-BAR REINF. (STEEL) (PART NO. U-1080)

AutoCAD SHX Text
0.072"

AutoCAD SHX Text
0.072"

AutoCAD SHX Text
0.060"

AutoCAD SHX Text
0.072"

AutoCAD SHX Text
1.250"

AutoCAD SHX Text
0.836"

AutoCAD SHX Text
0.060"

AutoCAD SHX Text
2.000"

AutoCAD SHX Text
0.100"

AutoCAD SHX Text
(19) INSTALL CLIP (STEEL)

AutoCAD SHX Text
12.000"


	Sheets and Views
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-Model
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-1 COVER
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-2 WOOD SCREW
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-3 NAIL
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-4 TEKS
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-5 Sections BOM
	ID 355 Endurance SH-SH Non-Impact Installations FBC Rev.2-6 Components


